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MANAGEMENT
PAPER-1I

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  If the demand for using the Noida express way is given by : 'f; )
Q=40,000 — 2500P f [

Where Q is the number of users (vehicles) and P is the amount of toll collected jper unit who
uses the express way. In light of this information which of the following is true=
"

(1) AtP=%6and Q=14,000; demand is price inelastic. | (
(2) AtP=%7and Q=16,500 ; demand is un}f’zﬁ"y elastic|
|
(3) AtP=X%4and Q=9,500, demand is prilé'le elastic. _,'I
(4)  All of the above \ (j
N (

2. If a100% scale-efficient plan&h?‘s 92% technical efficiency and 88.5% allocative-efficiency,
then its overall efficiency will ok

(1) 88.5% ®)p 90.25% (3) 93.0% (4) 81.42%
{ ~
3.  The market share data for an industry, comprising five companies, is given below :
Company & Market Share(%)
A 4 Y 35
B f 25
— ' 18
l. D | 12
E 10

w

This-inﬂustry’s three-firms Herfindahl-Hirschman index shall be :

0.234 @) 0.217 3) 0.151 (4) 0.0175

1)
gl |

N
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UERE)

T A - 11
fder: 39 YT | U= (50) Ig-fashedt U €1 TS U % & (2) 3w &1 |t 7 eifred g

1. 3 AiCe T 3 1 STEn S % o AT Q= 40,000 — 2500P & E ¥, ST Q () SugpTehdie
aﬁﬂ@Tﬁmﬁ%aﬁIPwﬁﬂéwWWmﬁﬁgﬁwwﬁﬂéaﬁW®|w
T & oeR W fefafed § § - a9l € 2

(1) P=%6 3R Q=14,000 W AT HTd AT T |

(2) P=% 73R Q=16,500 R TI THHE & &1 7 \ W
(3) P=?43ﬁTQ=9,500qTﬂ¢ﬁTaﬂﬂHFﬁ?l%gk/ﬂ
(4) SFd 9+t

| ‘/

N ' Al
k!
2. AR TH 100% HH-FeC HoA Fig92% ThIH FACT SR 88.5%AHA-Hoedl §, 0 FHH]
L v
T FI B Nz

(1) 88.5% 2)  90.25% 3) 93.0% (4)  81.42%

{ -
3. et ofe Hufwl o SUn H aSR-3TY gty s T8 TER ¥

HUA Y g TSI 37T (%o)

A 4\ 35

B f , 25
5 18
. D 12
W E 10

Se Y A e e fadia gEEiE = e ?

0.234 2) 0217 (3) 0.151 (4) 0.0175

1)
s [[JHHANNN

W
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4. For an economy which consist of single automobile maker and that in year 2014, 30,000
vehicles are produced with an average price of X 5 lakh. For this economy what would be
the increase in the nominal GDP for 2015 compared with 2014 with the 4% greater automobile
production and 8% inflation.

(1) 4.0% (2) 12.0% (3) 6.0% (4) 12.32%
s
5.  Demand policies targeted to reduce the unemployment become ineffective in presen{e of the
following : {
(1) Vertical phillips curve (2) Money illusion and ignorance*a,mong workers
e
(3) Horizontal phillips curve 4) ‘I\/T%ne of tlr‘.},e above
/ |
/ , !
| I
6. An individual’s involvement with, satisfaction and enL siasm for, the work he does, is known
as: f

r
F
-

(

Y
(1) Employee engagement < ﬁ' (2) Job involvement

Y
(3) Job satisfaction - (4) Organisational commitment
{ |
7. Which of the following is not perceived as the basic element of motivation ?
‘4
(1) Direction (2) Intensity (3) Performance (4) Persistence
8. A t1'1eory of motivation that is concerned with the beneficial effects of intrinsic motivation

anﬁi the harmful effects of extrinsic motivation, is termed as :
¥
(1) = Cognitive Evaluation Theory (2)  Self-efficiency Theory

(3)  Self-determination Theory (4) Two-factor Theory

s [N

=
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4. foreht srefeaeen, foad wwa svedeEa fmfa € o) o 2014 & 30,000 sme ffHa w¥ar & IR are
%! STHd HIFd T 5 TG © | 39 TfFAE H 2014 F o § AlG 4% 3T ATTHERA IRH IR
8% HETEHIT Bl A1 GEIEY Hehel BRe] 3G H 8 2015 o g fohat srgradt gt ?

1) 4.0% 2) 12.0% 3) 6.0% 4) 12.32%

¢
5. ﬁmﬁ{f@ﬁﬁ'@wmaﬁrﬁ’éﬁawaﬁmaﬂﬁaﬁﬁ&mﬁﬂwaﬁ,ﬂ@ﬁﬁ
GlT@'ﬁ:

|
(1) doed fwfered o (2) mﬂﬂﬁﬁgmuﬂ_aﬂtmﬁm d
3) &fs frfaw o (4) ﬂmﬁﬁﬁé%ﬂiﬂﬁi
f |

/ | i
6. Tl =afga &1 % o wfmfea g, 9qe & éiﬁ? SH%‘\_;}'::‘)CHIF&CI & 1 1 el Sl § 2

(1) = Hiew 2 =wd oltl}ol.gcu (@ Tt
" -
() wd Hife - ﬂf: (4) TISAIHS Ffaaga
Y4

{
7. frAfafted § @ 9 sthgeer 1 gayd 9@ 78 7 S g 2

‘4
LD few 2 (2) g (3) wE-TTaTEA (4) e

A

8. wﬁﬁuﬁm?wwﬁumaﬁtaﬁﬁ%ﬁaﬁﬁm%wé@umﬁﬁmﬁw&
Wﬁmwﬁmw%?

1) y H'w-uculch qedien fagida (2) TE-&H fEgTd
(3) smH-fruRe fagia (4) fg-we= fagia
s AN ;
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9.  Match the items of List I with those of List II.
List I List II
Behavioural science Contribution
(a) Anthropology (i)  Attitude change
(b) Psychology (ii) Attitude measurement {
(c)  Social psychology (iii) Conflict { " .
(d) Sociology (iv) Organisational culture ; !
Codes : . ! g
F ks
(@ () (© (@ B f
.// .
1 @ @) 3§D (i) / [
§ | I
@ v @ O ) f \
G) (@(v) @) @) @ J} 4
@ @) @) @) 4 (
</ '
| Y
10. A relatively stable set of characteristics that influence an individual’s behaviour is known
as:
(1) Attitude { (2) ( Learning (3)  Perception (4) Personality
‘4
11. , Assertion (A) : The more differentiated the HR environment, the more uncertain it shall be :
Reason (R) O ganrisations are dependent in an environment where human resources are
not widely available.
(1) F Both (A) and (R) are correct
(2)tt J (A) is correct and (R) is the right explanation of (A)
3) - (A) is correct but (R) is not the right explanation of (A)
Both (A) and (R) are incorrect
H||\||H|||H|“ NI :
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10.

11.

jars \||H||\|||H|H||H|||\HII\IHI\IIIH\IHHIII\I\HHI\

T 1 S w1 g 1w A 9 e i

T 1 T 11

HegRaeh fasm RINCE]
(a) S foRM () efvgfa 9fEda
(b) AR (i) srfugfa =
(c) SR W (i) A {
(d) YA (iv) HTSAcHe HERId f
RE : .

4

(fa) (?) (c) (fl) p, .,
1 @ G () ) [ ."
2 (v) @) (@) () / \
(3) (v) (@) (i) (D) 4-/ y
@ @ @ @) Y F add

o |
w&mﬁﬁﬂ%wmwﬁﬁwm@%aﬁwwwﬁwm%7
1) sfygfa . (), dEm OEEEEEICE] (4) Al
{ ’{
AFUFRAT (A) : | AFE HEEA (HR) SR § foat stfues fuma @it st & eifues stfeerman
-l

[#mm®) jt;ﬁﬁ@wwﬁﬁwﬁﬂk@ﬁ%aﬁWWaﬂwmﬁwﬁ

(1) (&) 4R (R e ¥

(2), (A) T TR (R), (A) F1 T TR E

(3) (&) T T (R), (A) 1 T T R
(A) 3R (R) < TTerd €|

N
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12.

13.

14.

15.

s [

" (@) Actors jf
e

Which one of the following is a type of interview where a series of job-related questions are
asked that focus on how the candidate would behave in a given situation ?

(1) Behavioural interview (2) Job-related interview

(3) Situational interview (4) Structured interview

Consider the following statements :

(a) Sensitivity training was developed by Kurt Lewin {

4
(b) In-basket excercise is a simulated training method {
(c) Depth interview is also known as Directive Interview | [

(d) Job evaluation is carried out for promoting job satisfaction

Which of the above statements are true ?

(1) Only (a) and (c) (2) Only (8) and (b) (
(3) (), (b) and (c) (4) ,(’5‘;{ (¢) and (d)
Il| |

|

Behaviourally Anchored Rating Scale (BARS) consists ;?’fhe following steps :

(a) Reallocate incidents y

-

(b) Develop performance dimensio[lsk f
(c) Generate critical incidents,,h' | §
(d) Develop final statements} |

The correct chronological order of these steps is :

1) @ @), @©) D= .~ 2) (b)) () (d)
:

(3)  (© (b) (@, (d) % | 4) (@) (c) (b), (d)
Consider-the ifo.ﬁowing elements :

b) Inputs
c) _ Context
d) Output |
i
)

Which of these are not the elements of John T.Dunlop’s Framework of Industrial Relatives
System ?

(1) (a)and (b) (2) (a)and (e) (3) (b)and (d) (4) (a)and (d)

(
(
(
(
(

Ideology

(o]
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12. T4 9 T TR & WIETohR | %1 9 Fafad 9991 st @ § w2l & FagR &l SR 9T 2idl
8?2
(1) =FEIH HETehr (2) HE-HaHd HAAHR
(3) feafd wmameR (4) HEAHS HI&TTehR
13. frefafed wa w fa=amr & :
(a) Hagstierar gfereror & fafam grr fasfaa fam mn o) y
(b)  3A-TEhe VAT Teh HiH Feror wETgia €1 f "(r'
(c) TR WEehR 1 FaRTee Snaehi +ff Fgd & |
(d) e Egfe H FQE o7 & fau qedie fhan S ¢ |
ST Hel F § FH-T w2 i . .J'i'
(1) F (2) AR () 2) é?ﬁ () 91 (b)
(3) (@), (b) ¥R (o) @) ;<b>, (q) ¥R ,<d>
14. fasfoatelt twe W e (BARS) frefafaa == EF[L?{TMW%
(a) EAISA] i GHHTE HE
(b) MR S 1 foreRE aﬂ-{? f
(c) FEEYT EEAA T Fo W ¢
(d) Afaw foero faemfad e
T RN HT &l HIAhRH T
1) @) (), (), (d) J{ 2)  (®) (o) (a) (d)
®) (9, (b), (a) (d) 4)  (a), (9, (b), (d)
15. feefafed qei % formm =Y -
{ (a)
(b) 3T
(c) " Hed .|
d) frfa
(e)lk J femmama
= B B8 T A, =T F T g Toret %1 S % e 6 82
) (@) R (b) () (a) 3 (e) () (b) R () (4 (@ (@
s | THTOAT )
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16.

17.

18.

19.

State the price of the share for the year t, if the rate of growth of the firm is 10%, EPS and

DPS for the year t+1, are ¥ 3 and X 2 respectively and the investors” required rate of return is
20%.

1) %30 2) %20 (3) %25 4) %10

In which of the following appraisal criteria of capital budgeting, the use of Varymg

opportunity cost of capital as a discount factor is possible ?
&

a) NPV (b) IRR () Pay-back Period (d) ~ARR { 2
(1) Only (a) is correct. (2) (a) and (b) both are correct.
(3) (b) and (d) both are correct. (4) Only (c)is correct, | . f
§
s & \ (
*

According to the CAPM model, the cost of eql}fty is represﬁlented by :
| I

J

(1) Ry+R,—RYB @ RHR,- réi) B,/
G) Bj+R,—RYR, (4) Ry +Re+p;

r
r
F
-

Where R | indicates market rate of re?ar.n, R¢ 1nd1catesrrlsk free rate of return and B indicates
beta of stock] < j': '

H

Anticipated annual dividend divided by the market price of the stock is referred as :

(1) Dividend Pay-out :{ (2) Dividend yield
(3)  Return on'Equity (4) Regular dividend
|
‘ I.
20." If the existing sﬁ;arel'holder does not exercise his/her right or does not sell the right
entitlement :
(1) his/her we.falth will remain unaffected
(2), his/her wealth will increase
v
(3) lr}_is/ her wealth will decrease
(4) his/her wealth may increase or decrease
s | RN 1
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16. afe fFal wH %1 H9fg W 10% €, t+1 99 & fow Sd.uq. ofR <t i.ug e T3 W28 qonafg
frerereRl =t eTafara gfawa G2 20% € @ o9 t & fAT IR &1 iwa a1 grft ?
(1) T30 2) T 20 3) T25 4) T 10
17. st aed & Frefafed § 9 f6g qoaisd Amee § 92 sR Wﬁﬁ?ﬁﬂ?ﬁww Eal
3YIRT H9g ¥ ? {
(a) NPV (b) IRR () UIF §HI (d)r ARR ( 2
1) e (a) & B 2) (a) 3R (b), T FE L
(3)  (b) 3R (d), T Tl T | (4) HIA (c) TE T '*, ;
& & it
18. WU TA. &Y H, ISt Y AT Rl R TRR Ejﬂ{r;w %*'?;;
(1) Ryt Ry —RYB, () ReHR, —ﬁ)sj
(3) B+ (Ry—RIR,, (4) Ry +Ri+p, ]
:%R Y qread § IR it <, Rfﬁ,W%Gﬁf@'q TEHQ‘I%IWHT T B, 9 T § T j b
|
I
19. Wﬁwaﬂﬂaﬁ Wﬁﬁaﬁiﬁwwaﬁfﬁmﬁa HTAT AT HEAT T ?
(1) <Y 9-31=e | ’{ (2) ST IS
(3) o W gfathet (4) frafaa anara
‘4
20.{ a2 7t o et oo st o S T AR @ o R T
EENEEnkil IHHT
1) wF-Hufa a—r;l‘qTﬁﬁr il
(2)\ e & s & s |
3) - YA-Fafq HH & S |
(4) ¥F-Gufa 9 off Wed! © SR 7 of & "adlt B
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21.

22,

23.

24.

What are the four main components of holistic marketing ?

(1) Integrated Marketing, Internal Marketing, Product Positioning and Performance
Marketing

(2) Integrated Marketing, Relationship Marketing, Social Marketing and Performance
Marketing

(3) Relationship Marketing, Integrated Marketing, Internal Marketing and Performance
Marketing

"

(4) Relationship Marketing, Integrated Marketing, Internal Marketing allad Social Marketing

L

r

Which of the following category of goods and services is most l;kely to require an aggressive

use of the selling concept ? e {
// #

(1) Complementary Goods (2) Luxury Goqu

(3)  Speciality Goods 4) f UnSOth’t Goods

'

F
Fd

-

The type of marketing that is the mostirgcent to emergg'is :

(1) Person marketing N d.){ (2) Product marketing
Vi
(3)  Services marketing ™" (4)  Social marketing
£ ‘
According to the ! theory, marketers can enhance demand for a product by

associating it with strong drives, using motivating cues and providing positive
re-enforcementy

" (1) Demand t}?ory (2) Learning theory

(3) Psychological theory (4) Two-factors theory

25. The most scientifically valid research is :
(1) ™ Experimental Research (2) Observation Research
(3) Focus-Group Research (4) Survey Research
vss NN 2
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21.

22.

23.

24.

25.

gafifor foque & freafafed § @ 9 ¥ 91 7= /999 8 ¢ 7

(1) THHd fauom, s=afiss faqum, Saae feafaao wd freue faaom

3

)

(2) Teihd fauuF, Grerea faquE, |mifse foqum v e faqom
) W faquE, Twhidkd fauuE, swiften foaum wd foaes foqum
)

4) T faquE, TERigd fauom, stafier fauem, wd wmfse faqom g
£ s
I’ r
IS UE Jaret &t feifend § @ i G 9ot % o fasha stasmon & STkt YR hl STyl

i 27

(1) T 3O () fagfe ?:m SIS

(3) fafere sar (4) JW(S{W)W
W%W@ﬁmﬁﬁmwﬁwaﬂﬂwﬁﬁ@wﬁ
i"‘\.
(1) At oo o [ @ SO fHE
L
Y4

(3) ga1 foaum (4) wmIS® faqoe

¥ s e Te S, sfies T S S gt @ de
3ScTe % T3 o iee gehd €

4
(1) wi R (2) H@A = (af) fagid
(3) TR g @) fg-Fwe fagi

|
SR gfte & Felfh Sy STgeen qehech it & 8?2

(1) TI.Q;*J‘)ITHFQEF ST (2) I STTEuE
(3) HIHH HE STIHEM (4) HT STHAH
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26. Which of the following statements is not correct ?

(1) Product Layout generally has continuous and Mass Production, mainly assembly
function.

(2) Process Layout generally has Intermittent, Job-Shop, Batch Production, mainly
fabrication function.

(3)  Product Layout usually has general purpose equipments.

Ty

(4) Process Layout is generally driven by fluctuating demand. 'f; )
{ r
27. Six-SIGMA quality indicates : : 4
(1) 2.4 defects per thousand (2) 2.7 defects per thﬁusa;wqd
(3) 3.4 defects per thousand 4) ?f c.lefecté" per thousand

||
."I | f
j J
[ f

28. A manufacturing firm has four work stations, A, B, C ? D in series with individual capacity
of processing 450, 390, 360 and 400 units per day respectively:and the actual output of the
firm is 306 units per day. The system capacity and-system efficiency of the firm shall
respectively be : 4 f

(1) 400 and 100%  (2) 4%0“51\@{ 120% (3) 360 and 85%  (4) 390 and 95%
|

29. In the simplex method. of solving an LP Problem, the product-mix column of the initial
solution contains : (

(1) Artificial variables only (2) Slack variables only

(3) Slack andﬁartificial variables only (4) Real variables only

4 "
F f |
f 1

30. If the optimal solution of an LP Problem is degenerate then :

(1) The probleLn has multiple optimal solutions
\
(2)'; The solution is not feasible

w

(3)  The solution is useless to the manager

None of the above

H||\||H|||H|\H AN
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26. TTH Y H W HUT TG TE ¢ ?
(1) e A-377e | "=Ia: TR SR ATeHe: 3T BT €, Jead: Taveett s
(2) R A-oTSe B UHRIE: Fh-Fh H (SVHIUL), SA9-9iU, S° Sced el ¥, TEId:
fafmor et
(3) R A-3T H YR WM 32T & SR B © |
(4) TfHAT - 3718 AMT=IG: SAR-<@d arel AT & feifa et g1 /
/ .
27. Taeg faran oeEm <wiar €
(1) 2439 Yfd &S ) 2.7‘&&}:@%@111-{ !
(3) 3.43M Yfd TR (4) 3/,7‘%@ EIEEEI |
28. w fafi w & A, B, C 7o D 2w A zllto, 'J90, 360 T 400 T TfeIfe geEeRoT
A T SATKNTA &A1 ¢ 1 W FT TRl Ieae 306 e Al & T F el T gonedt amwar g
UMt St 1l S&Tdl et ¢ % { £
(1) 400 T=M 100%  (2) 45(1@241{125/ (3) 360 A 85%  (4) 390 A 95%
l "
29. %F@mw@wwaﬁﬁqt@}wﬁfuﬁ RfY FHYE % IR-Tag wiem ¥ frefafaa § 9
B ? o .
(1) Fm =T ‘I { (2) gHE=
(3) T S b = (4) aTEEE W
30. dfg fet =R ‘;!Tﬁm que & e faem fesmie’ ®,
1) =9 g9E ﬁf agd sad TeM g
Q). I_%ﬁmﬁwﬁ%
3) > I e e % v =9 ®
ST H | T Tl T §
s \IINI\|||H|“|||!|||H\||\|H|\|||\|\|||H|||\|\||H|\ 1 Papec
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31.

32.

33.

34.

35.

If your score in an exam was 80, with a mean of 60, what would be the standardised score
for this exam if the standard deviation is 15 ?

1) 1.33 @) 1.25 3) 1.52 4) 1.72

Spurious relationship between two variables refer to :

(1) Very poor relationship between the variables.

Ty

(2) Statistically insignificant relationship between the variables. 'f;

(3) Relationship happens only due to third variable which is coamon to both the
variables.

(4)  The relationship which is impossible to measure. - > f

. N |i
/_/ #
In a medical test, where the null hypothesis isf. “The patient does not have the disease” and
the alternative hypothesis is : * The patient has the diseas¢’. Suppose a patient has a disease
and needs treatment. In the hypothesis testing process, which of the following errors is more
serious than the others. Ei

(1) Type-Ierror (2) Type- Ié{r(zr V.
(3) Both Type-Iand Type-1I error “4) r- errorr
\ ‘:'~ ¢
Decision support system doesmot use :
(1) Analytical models (2) Specialized databases
(3) Fileserver i: J{ (4) Computer - based modelling process

Give the correct order of the stages in ‘System Development’.

a
(1) Testing - froéramming — Systems Design — Systems Analysis - Conversion —
Productionfand Maintenance

(2) » Programming — Testing — Systems Analysis — Systems Design — Conversion —
Maintenance

\
(3), Systems Analysis — Systems Design — Programming — Testing — Conversion —
¥ Production and Maintenance

r
(4) Production and Maintenance — Testing — Conversion — Programming — Systems
Design — Systems Analysis

gl 1
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31. ¥ oifoT fe) Tden § 39 60 % HIET o T 80 3k 9, Ife gien 1 " fa=ad 15 8 a1 39
TeT & HHhIFd 3k Bl :

1) 1.33 2) 1.25 3) 1.52 4 1.72

32. <R % oE a9Eet 9oy w1 1Y ©

(1) =’ & &= 9gd &7 999 p
() i & i wifer e @ st gAY f : S
(3) had THI | Hefyd IR =) & HRI GaY

(4) Tey, fFRT A9 R UM ST

= |i
/_.4' r
33. fTaforem Sifa ¥, ROy grerhea § - ﬁﬂﬁaﬁaﬁnﬁ%‘r% 3R Jhfcaes YrahedT1 g - T i

R §' | 9H eifST A S § SR 30 TS B S S Y S wfEe
frafafed 3§ & FR- Ffeat s w1 g § st

(1) W¥¥ TR i e 1,,‘\(2) %ﬁamaﬁgﬁ
(3) ¥uH TS fgdm, aﬁ'—ﬁwmﬁgﬁ r-Ffe

34. foia gme gomelt e =1 9o e R R
(1) Freors aee. ) fri TR
(3) . IEA Hely (4) HHXR MURa Afefan gfshan

35. ‘Wﬁﬁﬁm’%iw’smﬂfrw%{:

) e F > TIHT — gomelt fesmed — gomeft foweraor — aREds — IaeT an STRam

1

(2),  TITHT — TR0 HIAT — YT faverser — yone! fesmed  — uRada —eTe
(
4)

3) = uel fawereor — gumett fesmed — TRt — TH&0 AT — TR — SR a9 ST
SCATEH AT STIET — THE AT — R — TEHT — Joedt fesmed — gorme! fageto

NN 1

s ]

www.examrace.com



36.

37.

38.

39.

Which of the following statements is correct ?

(1) Balanced score cards always report using the same time periods as the financial
accounting system.

(2)  One fundamental idea of balanced score card is to increase the number of performance
indicators used to manage the business.

(3) Organisations some times use a “traffic light” system on their balanced score card to

help them prioritise their activities. -

!
(4) The fundamental idea of balanced score cards is to create corporate strategy. |

[

What metaphor is used to describe the competitive space where product are not yet well
defined, competitors are not well-organised and the market is relatively unknown ?

(1) Blue Lagoon (2) Blue Ocean (3)  Red Sea -*. ~(4) Red Ocean
g L |i
Michael E. Porter’s five generic strategies are : J,/"J

(1) Differentiation (Best Value). Differentifa"ltion (Low Qbst), Cost Leadership (Large), Cost
Leadership (Small), Focus I '

(2) Focus (Large), Focus (Small), Cost Leadersli‘f(Small), Cost Leadership (Large),
Differentiation /

-

(3) Cost Leadership (Low Cost"‘ ‘Cost Leaderghlp Best Value), Differentiation,
Focus (Low Cost), Focus ( &'st Value)

L
(4) Cost Leadership ( Lar%q ), Cost Leadership (Small), Differentiation (Large),
Differentiation (Small);7Focus

i,

One of the strategic decisions relating to the value chain concerns vertical integration. This
would involve: |

(1) Decidin_ggc;o link all activities using Enterprise Resource Planning.

(2) Deciding whether the activity should be performed within the organisation or by a

different firﬁw.
(3)  Deciding whether to locate operation in the home country or in a foreign location.

(4) _ Deciding whether to share certain activities across different products and markets.

|
“Pepsi Co launched a hostile take over of Pepsi Bottling Group after its $ 4.2 billion offer was

40.
rejected”. Which strategy was used in this case ?
(1) Market Penetration (2) Backward Integration
Horizontal Integration (4) Forward Integration
H|H||H|||H|\H (R S
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36.

37.

38.

39.

40.

frefafed & @ w9 @ @& 72
(1) S-S ThR HTS T fouila ST Julelt i qHamary & FaH U &

(2) SIS TR FIE H JAYd 99N § HeH™ & Yoy Teral & fad wr - e gEet a6t
Wml

(3) HeA &t Fwft erut Mfafafe w wmuafaswdn, # 9 FH F A I R w1 W 2R
g’ YU T START F3d © |

(4) TS TR HE H AYd TR HidNe wRHa giad w1 2|

L
I r
3 gt T & fordt fhe e 1 Wit feram i & et swqgcrﬁwﬁﬂ'crﬂfr% mﬁwﬁtﬂﬂ
T § IR ISR 3T9ethd oTaRfad © 2
(1) ‘= 2) ‘= e’ @) ‘Yo o (4) e e’
y A
TTZF 2. WX & STER Ui AT FHrEHIaal it S g2 |
1) fasde (wE q@), fassmo(ie ww? T <iqedl (STef), @mTd Aqe (=),
e a’;’ ;
@) P (), W), AR, T AT, Frirdiern
(3) T Aged (F= @), & lq\ﬁﬁ(ﬂﬁﬁﬂt@) Ta8<teRt, TreRd (=1 o1 ), Tlshe (e
) ¥
4) @FE g (S, A Age (7)), faadis (), faude (ay), wed

T s A HaHR U T Fo v TR & g | T e a2
(1) T Fare FEsH &1 ST #d gy a4t Tfafafe=t w1 sied &1 o/ o=
@ WW%WH@W%W&WW@%mmml

)
{ 3) W%%ﬁaﬁ%ﬂawﬁ%mﬁwﬁaﬂﬁﬁmﬁm
)

%rﬁrrcsqlq 3R IR § $© Tfafafeal ol | w1 o o

I
" qeefrt i 4.2 faferaT SR Fi SE SREfipd B S ok §1E, IE T AfefeiT TE B A
aqfaq‘a’m%m | 29 99 B R & SR oo T 2

(1) ¥R 957 (Hifhe TTeM) (2) TYEIH TehTHIl
(3) &fds THiER (4)  STURTIHY Wehiaheol

4
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41.

42.

43.

44.

45.

Who viewed entrepreneur as a non-fixed income earner with known costs of production but
uncertain income and therefore, operating at a risk ?

(1) Adam Smith (2) Richard Contillon

(3) Jean-Baptiste Say (4) Francis Wolker

Which one of the following is not a major area of entrepreneurial innovation as suggested by
Joseph Schumpeter ?

4
{
(1) Product innovation (2) Process innovation / J
(3) Market innovation (4) Structural innovation

¥
.
Which one of the following types of entrepreneurs atre not proactive|in nature and does not

respond much to changes in the environment ? /,/ ,.;
JII' |
(1) Fabian entrepreneur (2) fAdoptive elhtrepreneur
| f
(3) Drone entrepreneur @) | Innovati;;f entrepreneur

F
Fd

-

SFURTI (Scheme of fund for regeneratiqn of traditional industries) is implemented by :
(1) Union Ministry of Tradi_tio"ﬁalﬁlgldustries l

(2) National Agricultural coof)terative Marketing Federation
(3) Federation of Indian Chamber of Commerce and Industry
(4)

4 Union Ministry of M;rro, Small and Medium Enterprises

According to tﬁe Tiwari Committee report, which one of the following is not an internal

/' cause of industria'g sickness in India ?

(1) Lack of mahpower planning (2) Lack of control systems

(3) _ Excessive expenditure (4) Excessive tax policies
|
\

46. Wf\igh of the following is/are the component(s) of Ethics by field of interest ?
(1) - Descriptive ethics (2) Normative ethics
Meta ethics (4) All of the above
H|H||H|||H|“||H|!H\||\ [ANRI 2
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41.

42.

43.

44.

45. ;

46.

frfafed & 9 fees ST &l 39 ®9 ¥ <@ ot oM oAfker B, 3o ara fafed = ug
arfafyaa waE & oIk Sfgw T %M wLa e’

(1) veH f@my 2) =2 Fem
() SH-dfre | (4) TITEH o

S JPeR & S8R fAfafed § § :F-91 Fayade Sawesdl @l © 7

(1) 3R Teayadd (2) Ufshal Fage { s
I’ r

(3) ENIR Ta¥ed (4) WEAHS TIIE

farfrst Wb % Serfirell & @ fora-wehe &1 se Wmﬁmﬁ(uﬁ—@) TEl B iR wfe
H afterdHl & fa s gfdfshan &t fewm ? A P
(1) e we (2) Jottient e

(3) ot (3H) Fend @) | qauaﬂi:}a Sereft

‘Tpfd’ (SFURTI) hiH 311 e ®i Rﬂﬂ:?ld 3T ;Ts%lfm'sé«jwi =l frefafed 9 9 fegs g1
SIURERISIGIR# <l !

(1) WWS@’TW@T{\"

2) wﬂww%mﬁm

(3) S it ey R S FTE UE Yo 5N

4) ﬁﬂaﬁmmﬁ{umeﬁﬂwm

4
o

et wfafa =t % o3eR, frefafed & @ -9 ard § SR S <61 S FRo e @

(1)  STIferd FMLM Fi % (2) T ot 1 StvTE

3) . Tafys =3 (4) sty F At
I

u
frefafed ¥ @ #R-91/3 wek fed F &t g Afa-wret F1/% T 92
(1) o if-ame (2) H FAfd-wrE

(3) Her Hifa-wre (4) STdF [
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47.

48.

49.

50.

What is the right sequence of four psychological sub-processes in ethical action given by
James Rest ?

(1) Moral sensitivity, moral focus, moral judgment, moral character

(2) Moral focus, moral character, moral sensitivity, moral judgement

(3) Moral sensitivity, moral judgement, moral focus, moral character

(4) Moral character, moral focus, moral judgement, moral sensitivity i

4
{
A new approach “Learning Model” which is helpful to strengthen the decigion making process
was developed by :

(1)  Arthur Rich (2) Bob Garratt (3) Christian Wolif (4) Lord Keynes
§

s L |i

*
Assertion (A) : Corporate behaviour towi% stakeholders is an important concept in
practice and a central part of corporate }Governance.

f J
Reason (R) : It has to be ethical, legalE and re%po isible behaviour for organisation,
stakeholders and society. fr

r
J

(1) Both (A) and (R) are true. 4 { —-f
5

(2) Both (A) and (R) are fals.e.ﬁ { !

(3) (A)is false, but (R) is trué. J

(4) (A)is true, but (R) is not a correct explanation of (A).

g
CSR is important because :

-

|

(1) . Itinfluenges all aspects of Company’s operation
¢ (2) Itgives comfan_y’s mission and strategy
(3) It increases the general affluence and societal expectation
(4) _ All of the above
I
\
L]
d -00o0-
i r
s | RN 2
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47.

48.

49.

50.

I T g € E Afaes SRaE | 9R mHaTe Su-giHaeti & 9el wH = e ?
(1) Afaw dagTiied, Afqw asa, Afqew fom, Ifaw =afka

2) Afaw @ex, Afdew =i, s dagTeieaa, Afaw o
(3) Afaw dagstierar, Afqw fofa, Sfaw @sa, Hfaw =l
)

(4) faew =afE, Ifew @ea, Afqew fofa, Afde deagTeie

L
foofa o1 =1 WiwaT 1 Yo TN H HETR T URevd e wiew ! Fet g fasktad e w0
qr:

(1) smRf= (2) 99 TE 3) ﬁfﬁmeﬁw “(4) €
g 'i
/.J ’
AR (A) : memiqﬁamﬁwww%aﬁ?wﬁ
A T Shigd T B / ‘

HRUT(R)  : SHHI €A, wWamw%mﬁrﬁwWamﬁW@mm|
1) (A) 3R (R) I @ £ A { (
(A) 3R (R) ST TTerd 2 | "M;{

)
2
) Vi
)
)

(A) T §, T (R) TR |

(
(
(3
(

4) () FE T, TIR), (A) F1 TE TR T 2 |
i
w1

?ﬁqﬂaﬂ‘ﬁﬁgﬁéaﬁﬁﬂ

/) a%mq-—ﬁé?' % |ft Tegetl i gefad T B |

2) IE HEA ﬁ?wﬁrﬁrém%l
(3) %W?ﬁﬁawmaﬁmﬁg@m%l
(4) ST ||

-00o0-
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Space For Rough Work
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